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21 A= {(x y)lx+3y =20, x, y A5} D W, n(4) &7

4x+3y =202 x°1, 2, 3,--- A =Z tfd5}te] AFA4=7}
HE= A% Aot (2, 4) ol
wekA, n(A) =1 o[t}




22 A ARG Ak o] £ % AR SR B 8 oL,
Ayele] 527} Q] A ] srpe) | el w, o] 48 Tl

(]

@ 17 @26 ® 35 @ 53 ® 62

B

4ol A2 o] 24 x, L] A2 £AE y 2T 5

x+y=38
x_l

AYsto] ZEH x =2, y=6 o|ch.
wehA] ok 4= 26 Ot




23. B4 o

= @9 to] Hrt 6 Aol AiL, o] o] 9] 2 vli= 544
Lol o] 3 et 22 uf

, &7 Yol Fstofzt.

> = Al
> EHE D 124

~&B

5A9] ol 2 xA| , 4] Lol 2 yAlet shal

x=y-6 (1)

3x=2 (2

(1)= (2)° HASHA 3(y-6) =2y
Jy—18 =2y

y=18, x=y-6=12
watA] EA419] Lol 12401t




ol

@507 ©® 68 @727}1 ©® 84 71

@ 10 7H

T 6X8+4x6=48+ 24 =T72(7})




25.

H

ol 124

o
-
=

FIF

Ch -
H -

| 2
> ®™EH:

1

|

A2 L

2:_

Q,

N2 7S 20km 287t=d] 2 A]

< Fatoler

o 1 A1z A3e,

Zh W=

km/h

5km/h

e oh

Hjo] &9 x km/Al , AE] &

20 g

=Y
20
Helshe

x—l—y'
o=
x—-y=10

x+y=20

2x =30
.'.x=15,y:5
webd 329 £

y km/A|




